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Multiplication – 5 

1. Multiply 24879 by 386. 

a) 9063294      b) 9630294 

c) 9603294      d) None of these 

2.              +      +            +       +            = 5 X 39 

What number should be placed in each box, so that the above sentence will be true? 

a) 5       b) 29 

c) 30       d) 39 

3. 360 X 640 is equal to _______________ 

a) 36 X 640      b) 36 X 64 X 10 

c) 36 X 64 X 100      d) None of these 

4. A number when divided by 50 gives quotient as 236 and remainder as 39. What is the number? 

a) 11839       b) 12839 

c) 18139       d) 11389    

5.  5    7      

       X    8 

        4    5    9    2    

a) 2       b) 3 

c) 4       d) 5 

6. ________ X 22 = 220000 

a) 10       b) 100 

c) 1000       d) 10000 

7. A mineral bottle plant produces 265775 bottles in a month. How many mineral bottles will be 

produces in 3 years? 

a) 797325       b) 3189300 

c) 9567900      d) None of these 

8. In a small factory 25 workers and 3 managers are working. Monthly salary of each worker is Rs. 9580 

and manager’s salary is Rs. 22650. How much salary all managers and workers are getting in a year? 

a) Rs. 246250      b) Rs. 314200 
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c) Rs. 3770400      d) Rs. 3970400  

9. A farm has 423 rows of apple trees, and each row has 65 trees in it. How many apple trees are there 

in the farm? 

a) 26495       b) 27495 

c) 24795       d) None of these 

10. What is the product of 7856 and 546? 

a) 4298376      b) 4829376 

c) 4289376      d) 2489376 

 

 


